CMR

INSTITUTE OF USN 11CI|R ClV
TECHNOLOGY
IAT 3
Sub: | Design Of RC Structural Elements Code:  |18CV53
Date: | 25/1/2022 Duration: 190 mins | Max Marks: 50 Sem: 5 Branch: |CIVIL
Note:Answer all question ( Assume any missing data). 1S456 and SP:16 code Book permitted
Marks oee
CO RBT

1 Design a rectangular beam of section 230mmX600mm of effective span 6m. | [ 20] | CO3| L2
Effective cover for reinforcement should be kept as 50mm both compression
and tension side. Imposed load on the beam is 40kN/m. Use M20 concrete and
Fe 415 steel. Sketch the details of reinforcement. (assume Simply supported
Beam)

2 Design a slab for a room of clear internal dimensions 3mX5m supported on wall | [20]| CO4| L2
of 300mm thickness, with corner held down. Two adjacent edges of the slab are
continuous and other two discontinuous. Live load on the slab is 3kN/m?.
Assume floor finish of 1kN/m?.Use M20 concrete and Fe 415 steel. Sketch the
details of reinforcement.

3 |An RCC short column of size 400X500mm is carrying factored load of 3000KN. [10]|CO5| L2
Design the column assuming emin < 0.05D. Use M25 concrete and Fe415 steel.
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1 Design a rectangular beam of section 230mmX600mm of effective span 6m. | [ 20] | CO3| L2
Effective cover for reinforcement should be kept as 50mm both compression
and tension side. Imposed load on the beam is 40kN/m. Use M20 concrete and
Fe 415 steel. Sketch the details of reinforcement. (assume Simply supported
Beam)

2 Design a slab for a room of clear internal dimensions 3mX5m supported on wall | [20]| CO4| L2
of 300mm thickness, with corner held down. Two adjacent edges of the slab are
continuous and other two discontinuous. Live load on the slab is 3kN/m?.
Assume floor finish of 1kN/m?.Use M20 concrete and Fe 415 steel. Sketch the
details of reinforcement.

3 |An RCC short column of size 400X500mm is carrying factored load of 3000KN. [10]|CO5]| L2
Design the column assuming emi, < 0.05D. Use M25 concrete and Fe415 steel.
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